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TAMILNADU
11NPCB/WTO5 | NEET PRACTICE QUESTIONS | ~2%1X
(2024-25) (TEST-5) Total Marks: 240
General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS (Q.No. 1 to 15)

1. The bus moving with a speed of 42km/hr is
brought to a stop by brakes after 6 m. If the same
bus is moving at a speed of stopping distance is
90 km/hr, then the minimum stopping distance is

1) 15.48m
2) 18.64m
3)22.13m
4)27.55m

42km/hr Geussdlev OFeLAID GLIIHHS), HEWL 6D
LweTUG S S 60T 6M b&IHE HNISSILGEDE.
318s CGumbgs 90km/hr Geussdled GFLID
Gung semLemw LweTUBSSleoTned Sig HDGL

SITID
1) 15.48m

2) 18.64m
3)22.13m
4)27.55m

2. The velocity of particle (v) = v, +gt + Ft*. Its
position is x = 0, at t = 0, then its displacement
after time (t=1) is

v, +g+f

S/ L F
2)V0+A+/3

g
v +=+F
3) o 2

4)v +2g+3F

glseflenr HlemsGeuad (v) =v_ +gt+ Ft>, Gpmb t =0
ereufled gserfleor Blemed x = O LHMID (t = 1) erevfled
glsefleor L1 euwisd

v +g+f

g/ L F
2) VO+/Z+A

g
v +=+F
3) o 2

4)v +2g+3F

3. A rocket moves straight upward with zero initial
velocity and with an acceleration 20ms=. It runs
out of fuel and stops accelerating at the end of 5th
second. It reaches maximum height and falls back
to the earth. The speed when it hits the ground is
(Take g = 10ms™)

1) 1002 ms'!
2) 150V3 ms™!
3) 50N6 ms™!
4) 75 ms™!



&Pl  mouglems Geusd wOHMID  20ms?
WwhosesaILer Cuame Onsesl 6etm Goed
Crredl asdlng Seug eleormaquied erflowmper
sl Hlemeouled (PBSHSHD HMSSILL(D,
SFBLULE 2 WTSHmS DeDLHIOYL6T, LpLilemiL
Crnesdl Hmol eEHng. ereofld  Hemmuied
Guongd Gung 0né 6&LIqeoT Geusld  6T6dTeT?
[g=10ms?]

1) 100\2 ms™!
2) 150V3 ms™!
3) 50N6 ms™!
4) 75 ms™!

4. A person sitting in the ground floor of a building
notices through the window of height 1.5m, a ball
dropped from the roof of the building crosses the
window in 0.1 second. What is the velocity of the
ball when it is at the top most Point of the window?
[g=10ms™].

1) 15.5 ms™!
2) 14.5 ms™
3)4.5ms™!
4) 20 ms™!

sligL sleor Ged sHensHeSlmhs SC efpb
ubg 1.5 B 2 _wimpeitem edTeoremev 0.1 eXleormiquiled
L&D Gurng sLLSHT ST HenHHled
2 L sminhg Qe QHeuT seuerflésEAnn ereofled
eeoteoTedledT GOELL L H6m Lih& SL&&WL Gung)
G601 Flewa Beusld eredteor? [g = 10ms]

1)15.5 ms™!

2) 14.5 ms™!

3)4.5ms™!

4)20 ms!

5. The average velocity of a body moving with
uniform acceleration after travelling a distance of
3.06 m is 0.34 ms!. If the change in velocity of
the body is 0.18 ms™ during this time its uniform
acceleration is

1) 0.01ms™
2) 0.02 ms=
3) 0.03 ms™
4) 0.04 ms>

&oneor (pB&SHSIHL BHL G LNHET 3.06L5
SIS5ems SLbHS eor sonsfl HlemsGeusd 0.34
e, @by GCrudde eunmeafledr HensBeusm
rpuT@® 018 Wed!. erevfled ewnm@pefledr Srmeor
whessd i

1) 0.01ms>
2) 0.02 ms
3) 0.03 ms™
4) 0.04 ms=

6. A man running at a speed of Skm/hr find that the
rain falls vertically when he stops running, he finds
that the rain is falling at an angle of 60° with the
horizontal. The velocity he of the rain with respect
to running man is

1) 5\3 km/h 2) 5¥3 /2 km/h

3)4V3 /2 km/h 4) 5N3 km/h

5km/hr Geusddled & evflHedr ML Gums)
DeWY CFHIGSHITS el(geuems  SHTesormmeoT.
eOeuems Hnsslwe er HenLol L 5EsmE 60°
Ganeoosdled wwemlp el(peuems  SmevoTEDTEIT
eTeufled LoeuflHe0T G(BEUMSLI QLMTMISHE! Lo6wLPUTET
HlemsBeusLoneors| wng)?

1) 5N3 km/h 2) 5¥3 /2 km/h

3) 4V3 /2 km/h 4) 5V3 km/h



7. A stone is thrown vertically upwards, when the
stone is at a height equal to half of its maximum
height its speed will be 10ms™. then the maximum,
height attained by the stone is (Take g = 10ms?)

1)3m
2) 15m
3) Im
4) 10m

&0 QTN OFRGHITS  ermuln@BGUTS)
&HELELETTE AHFBLLE 2 WTSHH6D LTS 2 WTsHems
siemLwd Gurg Geusd 10ms' eredTDmEL  &H6L
SiemLD B 2 _wigd (g = 10ms—)

1)3m
2) 15m
3) Im
4) 10m

8. From the top of a tower, a ball is thrown vertically
upward which reaches the ground in 6 S. A second
ball thrown vertically downward from the same
position with the same speed reaches the ground
in 1.5 S. A third ball released from the rest from
the same location, will reach the ground is

1) 3s 2) 30s

3)2s 4) 6s

ubsh &etemm  Gamumsdlenr 2 FHuledmhEl
BweBrnad aamhiGHHNS eTmlibsmed 6 eXleormauied
SHemTemI 6UHGHeWLEMG). LT6TOTLMEUS), 6(H LIHeDS
3188 BL5FHe0mHe 2165 Cousddled O&HIGHITSH
Ep Gmnéed erMibsmed 1.5 efleormquish Hemremuwl
aUbHOLING. 3165 SLHHeOHHE CeoTHIEUS)
ubens @6y Heoouledmbs elBelssme
SHemIeMW! EUHSMLU|D GHILOMEOTS).

1)3s 2) 30s

3) 2s 4) 6s

9. The width of the river is 1km. The velocity of boat
is 5 km/hr. The boat covered the width of the river
in short time 15 min. Then the velocity of river
stream is

1) 3km/hr
2) 4km/hr

3) V19 km/hr
4) V41 km/hr

UL 660Tm| Skm/hr GeussSgiL 60T 1 1.5 Sisev(peern
DM SLHSH GHeWDIHS LILFID, 15 HIOILrhisemern
T(BH&IH QBMeTHME) ereufled Sphfled HTMLL &6t
BeusLd eT60T60T?

1) 3km/hr
2) 4km/hr

3) V19 km/hr
4) 41 km/hr

10. The position Vectors of Pand Q are 5i+ 4 j + ak

and —i + 2} + -2k respectively. If the distance
between them is 7, then the value of ‘a’ will be

1)-5, 1
2)5, 1
3)0,5
41,0

P wpmib Q-eflr Hlewed QeusLTaeT 51+ 4 +ak
oo  —i+2j+-2k 6. SMEUSHEDHHS
BemL G 2_sitem GO 7 er6vfled a eXledr ol

1)-5, 1
2)5, 1
3)0,5
41,0



11. Find a unit vector perpendicular to the vectors
A=4i-j+3k and B=-2i-j-2k

| i—5]+2k
) o7
?+5}+2l€
247
— 4242k
3) —3f
—i—27 -2k
4) —\E
A=4i-7+3k LOHMILD B=-2i-j-2k Sy

CEUELITHEDHE 6EFRIGSHHTS 2 6T6m QTG
e6USLT

§+5}+2§
27
- ;'+2}'+2,@
3
—i—27 -2k

4) 5

3)

12. The vector sum of two forces is perpendicular to
their vector difference. In that ease the forces

1) are not equal to each other in magnitude
2) are equal to each other in magnitude
3) are unequal

4) None of the above

@nevor®@  eNemssefledr QEUELT  Fn(BSHELVTEOTS)
SiemeUH6TleT QleusLT CeumILNLIgNE C1&HIGSHSTS
o _eteng). &b Hlepailed elemssenmeorg)

1) eTeoor  WOSHILTED Sieweu  QEOTMISHEISHTEOTM)
&LOLD6DED

2) er600T LOGILILTlED SieMEU EEOTMIS CIGHTEOTM)| FLOLD
3) &LL06DEY

4) Cupanmlw erge Ldlebemen

13. A particle moves in a circle of radius Scm with
constant speed and time period 0.2nS. The
acceleration of the particle is

1) 15 ms™
2)25m?
3) 36 ms™
4) 5 ms™

5 [3L:ah) S I(PEDLL eu L LILmemsuied
fomeor  Geusddled SuikiGL HideT &edTHeor
SleWEVEYSHHMVD 0.2 7S eTeufled  Sisg Herfleor
(WH&HSHLD 6T60TE0T?

1) 15 ms™
2) 25 m>
3) 36 ms™?
4) 5ms?

14. An electric fan has blades of length 30 cm
measured from the axis of rotation. If the fan is
rotating at 120 rpm, the acceleration of the point
on the tip of a blade is

1) 47.4 ms=
2) 50.55 ms™?
3) 1600 ms™
4)27.3 ms?

Qm Wer efdlulenr &pnd oiEdd Sabhal
@néemsuieor Hemb 30 685  1Oer e
120 rpm er60T SLpeyid GLINg @méemauieor misoflufed
enLWCHTSHE (WHBSHSHLD 6T60T60T?

1)47.4 ms™
2) 50.55 ms™
3) 1600 ms
4)27.3 ms™



15. The velocity-time graphs of the two particles P,
and P, are shown in the adjoining figure The ratio
of the distance covered by them at any instant is
X,/ X, =

1)3
2)\3
3)2
4)~2

P, Log')QJL'? P, .guaa.siws@?é@rrs.m ef,]sm&(%suoa: &HIT6L
eUEmILLLD ULSHeD sniLlL (Berengl. b &b
Crrssald s586TH6T SLHG C\HTeneeyserler
elldsib X, / X, =

s
q
g \D
Lo
b
)3
2)\3
3)2
4)\2

CHEMISTRY (Q.No. 16 to 30)

16. The best evidence that electrons are arranged in
definite orbits or energy levels is based on the
observation that

1) Atomic spectra consist of discrete lines and
not continuous bands

2) Electrons in the beta ray have high kinetic
energy

3) The penetrating power of cathode ray electrons
depends upon the voltage used to produce
them

4) Electrons revolve around the nucleus

eTeUHLIN60THET  GSUILLL UL L LUmemguied
Si6DEVE  AHMMED UL SHHED  SIeMLOMHGI6TET60T
STEOTUSMBME0T A ST SpSH&H600TL. Sy lielledT
SiqLILIEDLUN6D SIEWLOHSIETETE).

1) o) FIDLOMEmE,OSTLTFFIMTE0T LI 6WLSH6IT

Gumed Qevevnoned HevflHd CamBEHemensd
Q& mevoT(B6iTeng)

2)5LLn adlisefled 2 _6Tan  6TEV&HLTTEOTEHEIT
aFles Quss ApHMEDEVS E\SM6ToT(H6TETE0T

3) Ca5Can(h ST eTeV&L_ 60T SH6rl60T
oar(BrHeYL ST SiuMemM L_(HEUTSHS
LweoTU(BSBLIL(BLD LOl60TE0T (10 5 SHeMSLI

UTMISSSI
4) TSHLOMEITHET  HNODUSHBHIHEWEUS Sl
6U(H 60T 60T

17. AE value is maximum in

1)E,~E, = AE
2)E,~E,=AE
3)E,~E,=AE
4)E,~E,=AE

SlpasetorL  uflonhpsHed erdled s uls AE
&Iy 2_eTeng)

1)E,—E, =AE
2)E,~E,=AE
3)E,~ E,= AE
4)E.~E,=AE

18. Which of the following is responsible to rule out
the existence of definite paths or trajectories of
electrons?

1) Pauli’s exclusion principle.
2) Heisenberg’s uncertainty principle.
3) Hund’s rule of maximum multiplicity.

4) Aufbau principle.



EpsetoiL 6 GINHEWENT  ETELHLITEOTSH6I
EUEDTWIMISSLILIL L Lmemaaerfled SLuems
Birneflsdng)
1) Qa6 HENTHEMS HHGHIEULD
2) el@mLLge0TUT &el60T 2 _migluiletemios
OBTETEMS.
3) aurevorl efld)

4) LI Q\BHMTETEmS.

19. The kinetic energy of the ejected electrons in
photoelectric effect is

1) Directly proportional to the frequency of the
incident radiation

2) Inversely proportional to the frequency of the
incident radiation

3) Not related to the frequency of the incident
radiation

4) All the above

earflbleor eXlememexled
eTELSLIMEOTSH6M 60T SWidHs ShMHMeD

YuBb  sHireli&dleor
CrreldssdHled 2 eTeng)

eleuefilILBLD

S1F[T6161600T600)16&

2) UL sJielisdler sFlieEUTTEINSES THIT
efldlasHe0 2_6Terng)

3 ul  sHreisdeor
CSMLITL{6ML LIS SI6060

S1F\[T61621600TTT)L 60T

4) Cunanlul SemeTHHID

20. In photo electric effect, the energy photon striking
a metallic surface is 5.6 x 107"°J. The kinetic
energy of the ejected electrons is 12.0 x 10 =° J.
The work function is

1)6.4x10°1°]
2)6.8x 10719 7J
3)44x 107
4)6.4x 10207

eafl et elemeneled 2 Gevns  GomumliemL
&G GumLneofledr Spmmed 5.6 x 107'°J. Cogud
eeueflHaeTemiLBLD eTeusLeofledr QuissH SphHMmed
12.0 x 10 2°J. ereufleb Beuemev &FmiL

1)6.4x 101

2)6.8 %1077

3)4.4 %107

4)6.4x102]

21. Which of the following sets of quantum numbers
represents the highest energy of an atom?

Dn=3,I=1,m=1,s=+1/2
2)n=3,1=2,m=1,s=+1/2
3I)n=4,1=0,m=0,s=+%
4Hn=3,1=0,m=0,s=+1%

SLp&&600TL G6UMEOUTLLD 6TevuTdH6ifledT 6B & Sl&erfled
618 Sig)6fledT SIFSHSHDMEMEVS SBISHME?

Dn=3,1=1,m=1,s=+1/2
2)n=3,1=2,m=1,s=+1/2
I)In=4,1=0,m=0,s=+"%
Hn=3,1=0,m=0,s=+1%

22. Choose the incorrect statement:

1) The shape of an atomic orbital depends upon
the azimuthal quantum number

2) The orientation of an atomic orbital depends
upon the magnetic quantum number

3) The energy of an electron in an atomic orbital
of multi-electron atom depends on principal
quantum number.

4) The number of degenerate atomic orbitals of
one type depends on the value of azimuthal
and magnetic quantum numbers



SHEUDNET dnhemmd BHT6Y C\FLIS:

1) Sieom) I Ledleor euqeud Caomeoor 2 hs
G6UIT6TOTLLD 6TE00T606T0TL QILIMTMISSHE)

2)m oo HTULLTOET FHlemswienoey
&G G6UTEVUTL LD 6T600T6M6TOILI QILITMISSE)]

3) U6 ETELHLOMEITSHET ESHMevoT  SigovyeNleoT
i) ST LMeSey 2 eitem eTev&LTmevfledt
SHDMED (PSHEOTEMLD G EUTETOTLLD 6T600T60600TE
SMITHSIETTS)).

4) 810 HODL  Siew) AL LmeLs6rfleor
eTevoTe00 1Hems  G&HMevor 2 [h%  LHMID
&MbP GH6UNETTLLD 6TevordHerfleor LodlliemuL
UTMISSSI

23. Which of the following statements on quantum
numbers is not correct?

1) Quantum numbers n, I, m and s are needed to
describe an electron in an atom completely.

2) Quantum numbers n, I, m and s are obtained
by solving the Schrodinger wave equation.

3) A subshell in an atom can be designated with
two quantum numbers n and 1.

4) The maximum value of | is equal to n - 1 and
that of m is £l

GOUMETOTLLD  eTevordel  UDPW  SLpéH&esorL
sammiserfled erg sflnme)?
VM Seneid 2 6ter  6re&LTTemeoT

pgemwwng efleuflss n, |, m woHmd S
&6UMEOUTLLD 6T600T&H6T BHeme.

2) &6UM6DUTL LDET600T&ETN, |, MLMHMILD S S SliLiemex
I E T SI6M6V FLOGOTLIML_ 6L &
STlIusedT eLeuld ELIMLILIB&OTmEDT.

3) @ Sismieled 2 6TaT QI HEWeTUTHIn (B
@revtor(® G6UMEUUTLLD 6T600T&HET N LOHMID |
-2h60 GOLNILLILBEDS)

4) | @601 LB WHIL N — 1 &G &b LOHMILD
m &eor &l +1

24. The frequency of a wave light is 1.0x10° sec™’.
The wave length for this wave is

1)3 % 104 cm
2)3x 10 *cm
3)6x 104 cm
4) 6 x 10° cm

siemev Geaflufleor ailFeleusvor. 1.0x10° sec'. b
S16m6VUTNE0T Si6mEVIHEIMLD

1)3x 10*cm
2)3x10*cm
3)6x 10*cm
4) 6 x 10° cm

25. Calculate the de-Broglie wavelength for electrons
if its speed is 10" m/s?

1)0.72x107'8 m
2)7.20x 108 m
3) 72.8x 108 m
4)728. 1078 m

ereusLTMeordHefleor Beusdsld 10 m/s erenfled Sbs
SiemevulledT SiemevIHaTLd

1)0.72x10"% m
2)7.20x 108 m
3)72.8x 108 m
4)728. x10'* m

26. Which one of the following conditions is incorrect
for a well-behaved wave function( )

1) v must be finite
2) v must be single valued
3) y must be infinite

4) v must be continuous



Slemev EMiUsGG (V) WedTeupd HlLbHementsarfled
618 SHEUDTEOTE).

27.

1) Vv suedIWMNISSLILILL STH SHHe Geusvor(bLd
2) y @nemm wHliLngs Smes Geuevor(BLD
3) v erevemeuimmans hsHsH Geuetor(hLD

4) y egnLigdlwns més Geuevor(BLo

The kinetic energy of electron is 3.0 x10*J. The
wave length of the electron is

1) 7965A
2) 4625A°
3) 91A°

4) 8967A"

eTeu&LImeofledor Quwisse Symmed 3.0 x107 J. erevfled
ereu&L_Tevfledr Siemevifentd

28.

1) 7965A
2) 4625A°
3) 91A°

4) 8967A

In an atom, an electron is moving with a speed
of 600m/s with an accuracy of 0.005% certainty
with which the position of the electron can be
located is

[h=6.6x10Js, m=09.1x 10* kg]
1) 1.52 x 10 m
2)5.1x 10° m
3)1.92 x 10° m
4)3.84x 103 m

Qm ool @ eeslaner 600 /el
Geusgdled 0.005% GHELOWSHIL 60T HEBTSME,

ereufley

eTevdLnmenfleor  Hlemeouled  ermu(BLD

BFFWILHD HEOTELD

[h=6.6x10Js, m=9.1x 10 kg]

29.

H-sigmiefler  sweflunés@o  Homed X

1)1.52 x 104 m
2)5.1x 107 m

3)1.92x 103 m
4)3.84x 103 m

The ionization energy of H atom is x kJ. The
energy required for the electron to jump from
n =2 to n =3 will be:

1) 5x

2) 36x/5
3) 5x/36
4) 9x/4

kJ.

eTeusLIMedT N = 2 @eSl(Bba N=3 && STEYUSNSS
GCaemeuwlnenT Symmed

1) 5x

2) 36x/5
3) 5x/36
4) 9x/4

30. Consider the following statements:

)]

2)
3)
4)

Electron density in XY plane in 3d, , orbital is
Zero

Electron density in XY plane in 3dz? orbital is zero
2s orbital has only one spherical node

For 2pz orbital YZ is the nodal plane

The correct statements are:

1)2and 3
2)1,2,3,4
3) Only 2
4)1&3



HledTeUIBLD HnMHMISHEM6NTS SH6U6UTILTEIS6IT
1) 3dX2_y2 STIILLTeNe XY semsdleverevéL mmenfleor
LTS LhedeSlib
2) 3dz* gymillLmedSled XY sensdleverevsLmmenfleor
LTSS L,gefib
3) 2s I LmeSled 6H GBHTL6D S6MD 2_6ieng)
4) 2pz SHmILmeSled YZ GBrLed S6Mb 2_e6Tens)
SIILINEDT Sn HMIGHET :
1) 2 and 3
2)1,2and 3
3)2
4)1&3

BOTANY (Q.No. 31 to 45)

31. Identify true statement

A. Leaflets are attached at a common point, at the tip
of petiole as in silk cotton — Palmately compound
leaf.

B. Incisions of the lamina reach up to the midrib
breaking into a number of leaflets - Compound
leaf.

C. Number of leaflets on both sides of the midrib —
Pinnately compound leaf.

D. Leaflamina is entire or when incised, the incisions
touch the midrib — Simple leaf

1) Cand D
2)Aand B
3)A,Band C
4) D only

FfWLIN60T SnMemm H60oTL IS

A. @eveud LIEh S Lo & & 60T Fomlemev el
Bemevsenbiileor mieofluied QemevorbHBHLILIS)
LoHMILD QLImgieureot Lsmerfluiieh Eemevorb S HLILIS)
— SIMhIemS 66U Fn L 1q6060

B. @emev Lfemeunents emwwimIoL (emed emLowl

&ITLDL|) 6uemT 61F60TM) Liev Fimilemevsenns Lflibs)
SHMeoTLIL(BSHED — oL 1 6M6D

C. @emevemowssnbliesr &  Yorseflgid
Bemeder  sMevoLLBFH -  FmGeugeu
851960060

D. @emeu53MaT (Lp(QemLoLLITenTs), Lemsu®Bo Gung)
fle6y emLOWIHILOL] (60wl E6MEVSHESMLDL]) EUEMIT
uredl snevorLL(BHeL — FHevfl Qemev

1) C b D
2) A ohmib B
3) A, B ommpo C

4) D L @b

32. Which of the following is not correctly matched
A. Calotropis — Opposite decusate
B. Psidum guajava — Opposite superposed
C. Nerium — Whorled
D. Alstonia — Ternate
1) B, Cand D
2)Cand D
3)Band C
4)Aand D

Fflwns OUNIHHSNSH Eemet0TemU SH600TL IS
A. sGenCrmilelv (T(h&HS) — GMIHS LLMIGHS

B. dlquid @gmeur (Q&muwIm) — 6 Gunag
erSliflemeviemLos)

C. Brflwb — eul L. @emeviiemios
D. sisbev@Lmesflum  — cpeflemevwlemioe)
1) B, C wmpmub D

2) C womio D

3) B iommub C

4) A ommib D



33. Identify correctly matched pair
1) Stilt root — Screw pine
2) Tuberous root — Raphanus sativus
3) Pneumatophores — Ipomea batatas

4) Fusiform — Rhizophora

gflwns eun@hHw Semevoremi &HeooTL &
1) LB GeuT&HeT — 610G 6MLIEOT (LIGOOTLITE0T6)

2) ki@ CeuTseT — (peerrhid]
(Raphanus sativus)

3) aeung Geurse (Pneumatophores) —
Fssemreueer] (Ipomea batatas)

4) B(pemeut &b Beurr (Fusiform) —
eogGam@umm

34. Multiple root cap and root pocket found in

and __ respectively
1) Pandanus, Pistia

2) Pistia, Pandanus

3) Pistia, Eichhornia
4) Dhalia, Eichhornia

ueLaIbs® Geul el wLOHMID Geug  eMUSET
snevorLiL(Beus (pemmGw ___ womid

1) LeBOTLM60T6N, Liletolq Wi
2) 19l610Lq.WIIT, LIGUOTLM60T610
3) Werolquwlrm, s&&mTeoflwim

4) LneSlwim, soéamyeoflwim

35. Match the following
A. Opuntia — i. Phyllode
B. Asparagus — ii. Cladode
C. Citrus — iii. Phylloclade

D. Australian acacia - iv. Stem thorns

10

A B C D

1) ii I iii iv

2) iii ii I iv

3) 1 iii ii iv

4) iii ii iv i
OUNIHSHEI%

A. sliunsdlaarerf] — i. BemevSHeHMLPled SHibL

B. speoumnssiv - ii. M BemevSesmidled sevor(®
C. ariblFemns — ii. Bemev&6\snLfled sevor(D

D. opendGrediw sisCasdwunm — iv. 6001([® (WL&H6IT

A B C D
1) i I il v
2) 11 11 I v
3) 1 il i v
4) 1i 11 v 1

36. Petiole modified into a leaf like structure in

Acacia auriculiformis is commonly called as
1) Cladode

2) Phyllode

3) Phylloclade

4) Tendril climber

S1&CHFwm Sy ifl@eSumLslen STeUTSHH60
Bema&HaMIDL EemeVILINE LOMMHMLD QUMM Si6mLOLIL]

1) HemGLI® (SMI Bemedesmfled H60or(®)
2) 9ebGeun (B (DemELSEEISMLHI6L SHMLDL])
3) NebBeun&Cen(B (QemeLSABTLHIEL SH600T(H)

4) upmysLoLil



37.

BemeuseiT

Leaves are modified into tendril for climbing as
seen in

1) Pisum sativum

2) Dahlia

3) Pandanus

4) Ipomea batataus

LOMHMLOEDLHS

ubm  SWLseTTs

Siemlolly snevorlL(beug

38.

1) EMUEFLD FLeWL 6D
2) LmeSlwim
3) LIMEDOTLTE0T6M

4) eotiGumSlwm L LML 6o

Sundari mangrove tree a species of Malvaceae
found in Sundarbans

1) Heritiera
2) Rhizophora
3) Avicennia

4) Sonneratia

&HST euetTHHMT(BS6fled SMeoorlL@BL  Lome@eud]

S BUSHNS

enihg  &bsfl oD  ereur

SewWPSHHLIMBeUSE

1) eemifliamm (Heritiera)
2) ema@en@Gummm (Rhizophora)
3) siefeoflum (Avicennia)

4) Gameor@renSwim (Sonneratia)

39. Assimilatory roots found in

1) Tinospora and Taeniophyllum
2) Viscum and Tinospora
3) Dendrobium and Begonia

4) Trapa and Vanda

11

aafls CsrsHens CeouTser snevorliLBeug

1) emLwiGeormev@Gunmm HMID LeeoflGuimieveuld

2) eflsiussd HMID emLwIGeormero@umTm
3) eLeor@omilwid wHmID auGsTesfluwim

4) Lgmum HmILD emesorLt

40. Match the following

A. Stolon — i. Chrysanthemum
B. Offset - ii. Fragaria

C. Sucker - 1iii. Centella

D. Runner — 1v. Pistia

A B C D

1) 1 v 11 1

2) ii iv I iii

3) I 111 11 v

4) iv ii I iii
N SHEIS

A. B @B se6tor® — i. Sifleromblold
B. @LemLwineor 6B Hevor® — ii. LNeTGarflwim
C. 5e008p @B s6evor(® — iii. OFEITLEIL 606V

D. B sevor® — iv. erviguim

A B C D
1) iii v i i
2) 1 v I 111
3) 1 il i v
4) 1v i1 I 111

41. Match the following

A. Foliar bud — i. Bamboo
B. Culm — ii. Areca catechu
C. Bulbil —iii. Agave

D. Caudex — iv. Begonia



A B C D

1) iii iv ii i

2) ii iv I iii

3) 1 iii ii iv

4) iv i iii ii
OUNHSEHIS

A. @emev QWML — i. cpraldled
B. &b sevor(® (Culm) — ii. siflsen sleL&s:
C. ueuliled - iii. S1B&H6x

D. dlememumm Hevor(® (Caudex) — iv. euGasmeoflum

A B C D
1) iii v i i
2) 1 v I 111
3) 1 il i v
4) 1v 1 111 1

42. Identify wrongly matched pair
1) Root climbers — Piper nigrum
2) Hook climbers — Cissus quadrangularis

3) Thorn climbers — Bougainvillea

4) Lianas — Bauhinia vahlii

SHEUDTS OUNIHHFHIW Semevoremil HeooTL Mm%
1) ubr) ermd GeuT&H6T — EMLILIT EWHSITLD

2) 0&M&& 6Im)| 61&HIMg &H6T —
Flevgenn GeunLomral@eomflery

3) (e amiesMgseT — GUTGaeiTerleveomn

4) emeuwleotmeny — Lnemleoflwim eumed
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43. Identify wrongly matched pair
1) Rhizome — Curcuma longa
2) Bulb — Allium sativum
3) Corm — Canna indica

4) Cladode — Ruscus

SHEUDMS OUNIBHHIW SemeoremiLl SHe0oTL Mm%

1) L L Blevdseoor® (Rhizome) —
oeh&eT (Curcuma longa)

2) @1lpib (Bulb) — Lyeor® (Allium sativum)
3) &bl (Corm) — &ebeumemlp (Canna indica)

4) BN BemevgHSLHlen
Feoor(® (Cladode) — mevasen

44. Identify wrongly matched pair

1) Leaf hooks — Bignonia

2) Leaf spines — Solanum trilobatum
3) Storage leaves — Kalanchoe

4) Phyllode — Opuntia

SHEUDMS OUNIBHHIW SemeoremiLl SHe0oTL M5
1) @emev O&THHH6T — LNSGeoTmenflLm

2) 8emev (PL&H6T — HTHIEUED6IT
trilobatum)

(Solanum

3) GsLill emevset — &Heve0TEehB&M (Kalanchoe)

4) Beme5esifled Hevor(B
(Phyllode) - sliungg) sererfl (Opuntia)

45. Leaves are modified into bladder like structure,

to trap aquatic animalcules in
1) Drosera

2) Nepenthes

3) Utricularia

4) Venus flytrap



BemeseT Qemeu&HGSBeMEULITS MDD  ELIMHM)
Bifled 2 eten fmiFAsemen 19955 2 _6voTLIEDE

1) L@oné&m

2) QBLILHSED

3) L ifleGeorflwim

4) effeoteiv eflebewnm) (Venus flytrap)

ZOOLOGY (Q.No. 46 to 60)

46. Assertion (A) : Bats and whales are classified as
mammals.

Reason (R) : Bats and whales have four-chambered
heart

1) Both A and R are true, R is the correct
explanation of A

2) Both A and R are true, but R is not the correct
explanation of A

3) Ais true, R is false
4) Both A and R are false

gapml (A) EUAUEUTEV&EHLD  SlLOIMISEV(LOLD

LITERTL LG &6TTELD.

&MT6ooiDd (R) : Q6UETEUTELEEHGELD HILOMRISHVSHSINESLD
4 SIEHDSETEY Sh60T ESWID SMevoTLILBEDE!.

1) SaDm) LOHMID SHMTevoTD &ifl, GLOGYID &MTEvoTD
nmnileor Fflwimeor eXlem&HaBLOMEGLD.

2) & MM LHMILD SMTE0OTLD &Lfl S60TM6ED SHTTE0OILD
FganMnG siflwmer eflenssd Sevemev

3) &nhm) &1fl SeoTTEL SHMTETOID HeUm)
4) samm)| LHMID SnTevold Srevor GG Heum)

47. Which of the following statements is true about

protostomes?
1) The blastopore becomes the anus.
2) They exhibit radial, indeterminate cleavage.

3)It  includes subdivision

Enterocoelomata.

only  one

4) The mouth forms from the blastopore.
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WetteuapeueoTeummied  LGIMLGLmervGLMD&6meNL
UMM 2_600T6mLD Sn DM 6787

1) BHSCHMET HIEW6IT LOEVSHFIEW6T SHEMS)

2) Semeu ) LoHMILD 2_miFlwimm
HereXllieILith&Hemev GleuarILILI(BSSHeTmE.

3) @dled eretniqCunEGeNGUL LT eTenyd GT
glemevorLiflifley L (B> &nevorlILBEDE.

4) &smsCamern 6L

2 _(mHeun&mg)

glenemulesmhs)

48. Which of the following is a main characteristic

feature of all arthropods?

1) Closed circulatory system
2) Chitinous exoskeleton

3) Vertebral column

4) Endoskeleton

HletreupeuetTaUDDle)  SHeunNSHSHMeSH6 6T (LS
LI6OOTL| 67857

1) g &HEOITLL SiemLoLi
2) 6m&L1q60TTEVME0T LMEFL L SHLD
3) WHIOBQIDLS EBTLIT

4) SBFFLLSLD

49. Which of the following types of symmetry is

characterized by body parts arranged around a
central axis?

1) Bilateral symmetry
2) Radial symmetry

3) Asymmetry

4) Spherical symmetry



NedTeUHID  6TThG  6UEMSBWINET  FIOEET, 6WLOL
FMEF GDHM SMOSHSBLILLL. 2 _L 6D LINTHAIBETTE)
U SLILB HSLILBEDEI?

1) @pubs S&FST
2) SYI&EEST

3) s&FFTHMEmEU
4) Gamen s&ST

50. Which of'the following is a defining characteristic

of salamanders?

1) Dry and scaly skin

2) Lungs and gills throughout their lives
3) Moist and smooth skin

4) Ecdysis takes place

etTeuheuetTEUDIIED  FMEULD6TOTL T SH6EIfl60T (&I
LI6OOTL| 6T&)?

1) 2_ehd LHMID eFHledsermeomeor Gsmed

2) miemguiTed WLMHMID E1&6YETHEMET CUMLPIHT6T
(PREUSID OUDIIHSS6V

3) FHILOM60T LOMMILD ELDEOTEMLOWIT60T BHiTed

4) Caneflesed HemLEILM)ISH6eD

51. Which organism is referred to as a living fossil?
1) Loligo

2) Ichthyophis

3) Physalia

4) Limulus

QUMD  Lj6MSLIG 6D
o _ufifleotid ergy?

1) eoneSiB &
2) @& Gwinc.Lie

TN  SMLPSHSLILI(BLD

3) emugmedlwm

4) eS(eve6iv
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52. Which of the following does not come under the
class mammals?

1) Flying fox

2) Hedgehog

3) Manatee

4) Lamprey
SLp&H&S600TL 6UD M6, aUGLIIDG6IT
Gennsg) e1&I?

LTeRTLLg

1) UD&SLD Ml
2) (eiT6lemed]
3) LomeuTIe 61
4) eombLIGy

53. What is the primary function of pneumatic bones

in birds?

1) To store fat

2) To produce sound
3) To reduce weight

4) To aid in digestion

LUmemeusarfled MMIOMIq& 6TepIDLS6ITl60T (LPSHEOTEmLD
ueoof:

1) esmglienu GsblgsHed
2) eeSleml 2 (HEUTSHEGSH6D
3) eTemL6emU GHEMMSHH6D

4) esflonesHNG 2 FH6H6D

54. Match the column - [ with Column - II and choose
the correct option.

Column — I Column —II
(P) | Contractile vacuole (1) |Asterias
(Q) | Water vascular system | (i1) | Amoeba
(R) | Canal system (i11) | Spongilla
(S) | Flame cells (iv) | Taenia




1) (P)-(iii), (Q)-(i1), (R)-(1), (S)-(iv)
2) (P)-(ii), (Q)-(1), (R)-(iii), (S)-(iv)
3) (P)-(iv), (Q)-(i1), (R)-(1), (S)-(iii)
4 (P)-(), (Q)-(iii), (R)-(ii), (S)-(iv)

siflwineor @emevotemis CHIHOSBSHEIL! OLMHSHIS

auflems — | auflems — Il
(P) | &@®HIGLD BTGB | (i) | gpevliflwien
(Q) | Bré@Lp6d wevorLeud | (i) | SwSum
(R) | ®meveumi oevorLevd | (i) | stoLmedTgdlebev
(S) | &LT e\FeL&6iT (iv) | eeoflwim

1) (P)-(iii), (Q)-(i1), (R)-(1), (S)-(iv)
2) (P)-(ii), (Q)-(1), (R)-(iii), (S)-(iv)
3) (P)-(iv), (Q)-(i1), (R)-(D), (S)-(iii)
4) (P)-(), (Q)-(iii), (R)-(ii), (S)-(iv)

55. Which of the following statements about

cartilaginous fishes is false?

1) Skin is tough and covered by dermal placoid
scales.

2) A bony endoskeleton and spindle-shaped body
are seen.

3) Respiration takes place through lamelliform
gills.

4) The caudal fin is heterocercal.

Sp&EBNENID & HMIs6TlED &IHSHESILDL| LBetTSH6me
UMM SEUDTET &nMm) 6187
1) Wemamii(B egdlevaer Guni SFHLILLL
&lqeo1Lonent BHmed SHmevorliL(BH M.

2) BFT eugey 2 Lemeowd ergIbLieoTmed
SSLLLL AHFFLLHD SHTvoTLILBHME.

3) 8emipauig el 61F66ITHEMTED &6UNELD
H6L OILMISDE.
4) DL IO &H&H60 eumeL&I(BLIY

&MevorlIL(BEMDE.

56. The preen gland is found in which organism?
1) Spiders
2) Snakes
3) Birds
4) Frogs

s o ulflorddHed  LNfeor &g

&nevorLIL(BGEMDEI?

(Preen)

1) flevb gl BHeiT
2) umbL&elt
3) UDEmEUEEIT

4) SHeUEmETHET

57. Identify the correct statements

(1) The respiratory pigments hemoglobin and
chlorocruorin are seen in annelids.

(i1) The larval stages, such as parenchymula and
amphiblastula, are seen in molluscans.

(ii1) Bioluminescence (the ability of a living organism
to emit light) is well marked in ctenophores.

(iv) Cnidarians exhibit two basic body forms: polyp
and medusa.

1) (i) and (iii)
2) (ii) and (iii)
3) (i), (iii) and (iv)
4) (i), (ii) and (iv)

SIflLIM6DT &nMHM)ISHEMET HEWMLUITEND SHTETOTEULD

(i) enfiGngGermiledr, wHmId &CemmGrm cmifleor
Gumedtm &eungd  HimldeT  SedTeoTedI(BSH6I 6D
&MeooTLIL(B & El.

(if) LUMTEdTEMSH(LP6LIT,
LIGU6UEM S 6T 6UMEEH6IT
SMevoTLIL(B& D&

(iii) 2_uiflserfleSiHiH&)
o_ulenmeflieed L6t
&SneoorLILI(BEMDE.

Sy demmerveon  GumedTm
eLebIL 69156ifled

&erfl 2 _([HeuUmGLD
le B0t BLmT &e6rfled



(iv) umeSlt  (Polyp) wmmidb 6w@®sm (Medusa),
6TeoTLILI(BLD Bmevems © L 6VEmLOLIL|G6IT
HGLflwnsefled snevorliLGEDE)

1) (i) and (iii)
2) (i) and (ii)

3) (i), (iii) and (iv)
4) (i), (i) and (iv)

58. An Indian Hemichordate found in the Kurusadai

Islands in Tamil Nadu

1) Ptychodera flava

2) Branchiostoma lanceolatum
3) Doliolum denticulatum

4) Petromyzon marinus

SLOWDIBL 1q 60T & [HFDL Sealugdsefled
SneoorlL(BLD @hS SiemTHT6001SH6T

1) emLGamGLom NGemeum

2) UpnriallGwimero@GLLOm 6UMEdTEN616VL LD
3) GLmed@wmeud 6160119 &B6VLLLD

4) euLComemLoanedT LorfleoTern

59. In which of the following organisms statocysts

are found as a body balance organ?
1) Arthropods

2) Bony fishes

3) Birds

4) Amphibians
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fedTeu(HLD 6ThG o _udifleorraiserfled
enBLLBLndlenl (B a6 9 L6d gLorblemev
2 _mII&enTs SmevorLiLi(BeledTmeoT?

1) He00I&HSHME0S6T
2) eTeIbL| LOeOTE 6T
3) UDemEUSHEIT

4) @meunpedlsar

60. Animal of which phylum have hooks and suckers

and are endoparasite on other animals
1) Platyhelminthes

2) Annelida

3) Aschelminthes

4) Arthropoda

0&N&EHHEB, 2 MlEehdHEHD  SHTeTOTILL SH8n lq L
318 &L (hevorevnfld 61&MevorL efleurhidlenTs MG S!
erg?

1) SLemLLI (&6

2) 6UEDETHEMELI L|(LpSHE6IT

3) 2_(HemeNLl L|(Lp5 86T

4) &60)5&Me0&6T



